Reinquadratische Gleichungen

Losen Sie die folgenden reinquadratischen Gleichungen:

Aufgabe

a) —222+50=0
d) 22 =16

g) -5z =-5

i) —x2=-16
m) 3z2 — 75 =

p) 3z2 = 300

s) 322=175

v) 422 —4=0
y) 22 =4

b) —2z2+25=0
e) 322 -192=0
h) —422 = —144
k) 42 = 256

n —z2+4=0
q) -5z = -245
t) —4x2 =—-100
w) ba? —125=0
z) —5224+20=0

c) —4z%2=-196
f) 22 =1

i) 322 -147=0
) —422+36=0
o) —2z2 =-162
r) x? =381

u —z2+36=0
X) —4x2+144=0
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Rechenweg

—22>+50 =0 | — 50
—22% =-50 |:-2
a) z2 =25 [/
$1:—5
.’L’2:5
z? = 16 v
d) $1:—4
Lo —
—5z°=-5  |:—5
2 _
g) T = v/
1‘1:—1
:L'Q_l
—z?=-16 |:-1
i z? =16 lv/
£E1——4
w2:4
32> —75=0 |+ 75
3z =75  |:3
m) 2 =25 v
CL’1:—5
ro —
3% =300 |:3
2
o) @ =100 v/
1131:—].0
w2—10
322 =175 |:3
g ©=2% |
.’E1——5
) 5
422 —4=0 |+ 4
42> =4 |:4
v) =1 v/
:Bl__l
Ir9 —

x? =25

131:—5

Ty =05
322 —-192 =0
322 =192
2 =64
xy = —8
To =38
—42% =144
z> =36
1 = —6
:L’QIG

q)

t)

522 —125 =0
5x2 =125
2 =25
x, =—5
w2:5

|- 25

|:—1
v

|+ 102
|:3
IV

|: —4

| +125
|:5
v

f)

u)

c)

—42? = —196
z? =49
I1 = -7
) :7
z? =1 v
I =-1
Lo =
322 —147 =0
3x? = 147
x2 =49
T =—7
T =17
—42*+36=0
—42? =36
2 =9
r; =—-3
Ty =3
—22% = —162
z? =81
I =-9
o :9
z? = 81 v/
I1 =-9
Ty =
—2>+36=0
—z? = —36
x? =36
r; = —6
zo =6
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|- 36
|:—4
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—422 +144 =0 | —144 =4 v/
—4z’=-144 |:—4 V) ;=2
X) z? = 36 v/ Ty =2
331:—6
332:6
~5z22+20=0 | — 20
52> =-20 |:-5
2 2* =4 M
T = —2
:E2:2
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b) T = -5 C) T = -7
Ly = Ly =

e) T, = —8 f) T, = -1
Ty = Lo = 1

h) T, = —6 I) L = —7
Ty = Ty =

k) T = -8 l) 1 = -3
Ty = Ly =

n) T, — -2 0) L = —9
Ty = Ty =
=T =-9

Q ot
Ly = Ly =

t) Ty = -5 U) L = —6
Ty = 5 Lo = 6

W) T = -5 X) L = —6
Ty = o 6

Z) Al —2
Ty = 2
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